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1. RXROFHBEAEZ < >HOXLFIZOWTHEIT. (SH19, Ak1530%, Bfk2520%, C#H345430% )

(1) z242y—9=0 <y> (2) %:b <z>
EELbA0 ET 3.

(3) ar —2=—bx+3 <x> (4) r_< <xz>
72ZLa+b#0 T 5,

(5) ax—b:%ax—i—?)b <z> (6) %—i—%:l <zx>
7L a#0 75, 7L y#41 L7535,
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2. ROFERE < >WHOXFIZOWTHT. (SHk1, Ak

157308, B#24r20%, CH34330F)
(1) 3z-2y—6=0

<y> (29 &=¢ <z>
T b
7272l c#0 LT 5.
(3) ar+2=+bx —3 <zx> (4) % % <z>
72ZLa+b#0 T 5,
1 1 1
(5) ar —2b= =—ax — 4b <x> (6) - —==-1 <x>
3 T Y
727l a#0 75,

EELy#£1 ET 3.
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1.

R#ETFAN XFA AEX WBW3 03 BREMES

ROFHERZ < > HOLFITOWTHRT. (SH14, AfR1530%, B#k2520%, C#345 308 )

* XFRDHGER

O Wz RBDRARAKIETHNS L 58 5.

@ FELIREE T TOEZBIE. 4141 2 NS o TH Z2 BIH.
®  WMpAZIADRETHE S .

(1) z+2y—9= <y> (2) %:b <z>
RELbA0 LT3,
2y = —o+9 a = bx <l x x
v o= 5 i be = o cAREZ
y = —2a+ 2 B zo= L EX WA
2 2
() ar—2=-br+3 <z > @ = <z>

2L a+b£0 £ 5.

ar+br = 5 % IH m:% EZ <Ml xa
(a+b)z = 5 <z T3
r = 5 BZ <M+ (a+b)
a-+b
1 1 1 _
(5) axfbfiaeriib <x> (6) ;Jrgfl <x>
7272l a#0 LT 5. 7L y#41 75,
2qx —2b = ax+6b <A x 2 y+z = wzy i x zy
z = 22 = SR 57) e (1-ya = —y
a
z = —Y BZ <mild+(1-vy)
1-—y
r = yﬁl BX <OROT x (1)
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RDOFFTEAZ < > HOLFITOWTHRET. (SH1, A
(1) 3z-2y—-6=0 <y>
-2y = —-3x+6
y = #;6 <A = (—2)
y = 3””2—6 B <R x (1)
v = Bas  mx
(3) ar+2=+bx —3 <xz>
7L a+b#0 T 5.
ar—br = -5 % IH
(a—=bx = -5 —z T3
— 5 w2 3
r = - ~EBZ <Ml <+ (a—b)
a—>b
o= SER <HRST x (-1)
b—a
(5) ax—Zb:%ax—llb <z>
7272l a#0 LT 5.
3ax —6b = ax—12b <~ x 3
2ax = —06b
ar = —3b <l =+ 2
z = -3 X <Mila
a

157308, B#24r20%, CH34330F)

(2)

= <z >
x b
7L c#0 2T 5.

a C

ab = cx < x bx
cx = ab — ANz
_ ab oz I =
r = — B2 <M=
c
(4) % = % <z>
a? - .
r = 5 ~BZ <Ml xa
(6) 1 _1_ -1 <x>

T Y
lLy#1 &35,

y—r = —xy
ry—xr = Y
(y—lz = -y
r = —Y

y—1

T = Y

1—y

<4 x xy
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